Given: A network containing a battery £, and capacitor C, and resistor
R and an inductor L.

C
” Denote the angular
b) frequency of the “LC”
S 1

circuit by w = :
£ ¢ (LC)
A )
|l

The switch § is left at position a for a long period of time. The switch
S is then moved from position a to b at t =0.

Find the maximum charge Q.. and the charge Q(¢) on the capacitor

vV L
A) Qe = EvLC and Q = Qpaz COSW

R
RvLC

B) Quaz = z and Q= Quascoswt
VL

C) Qmax — & R ¢ and Q — Qmax sinwt
vV L

D) Qumar = i 5 ¢ and Q = Quassinwt

Imaa: = w Qmax =4 Qmax = =
w R
Q = Quazcos(wt+0), at t = 0, implies that § = :I:g. Since cos (wt — g) —

sin wt, we have QQ = Qe Sinwt.
Answer C.
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